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QUESTION 1

Which IP fabric underlay protocol provides the highest degree of scalability?
A. IS-IS

B. RIP

C. EBGP

D. OSPF

Correct Answer: C

QUESTION 2

Referring to the exhibit,

M Exhibit =

which two statements are correct? (Choose two.)

A. There are two tunnels to the remote endpoint.

B. The irb. O interface is the remote tunnel endpoint interface.
C. The source tunnel IP address is 192.168.100.11.

D. There is one tunnel to the remote endpoint.

Correct Answer: CD

QUESTION 3

A company wants to expect their hosting business and is seeking solutions to supported multiple tenants. Each tenant
should be able to configure their own logical interfaces. Also, based on customer needs, all routing features must be
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supported.

What will satisfy the customer\\'s requirements?
A. Bridge domains

B. Tenant systems

C. Logical systems

D. Routing instances

Correct Answer: C

QUESTION 4

You are an architect for an enterprise organization that currently operates three data centers with plans to expand to five
data centers in the next year. You already notice large amounts of BUM flooding and must control this issue before
implementing the next two data centers.

Which feature would address this issue?

A. type-5 routes

B. type-6 routes

C. mesh groups

D. VXLAN BUM traffic filter

Correct Answer: B

QUESTION 5

Which two statements describe MAC address learning for VPLS and EVPN? (Choose two.)
A. VPLS learns MAC addresses in the data plane

B. EVPN learns MAC addresses in the data plane

C. EPLS learns MAC addresses in the control plane

D. EVPN learns MAC addresses in the control plane

Correct Answer: AD

QUESTION 6

You have deployed two data centers that require a Layer 2 stretch between hostl and host2.
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Referring to the exhibit, what does a Layer 2 stretch require?

A. A VPLS WAN connection data centers

B. A VXLAN tunnel originating on VTEP1 to VTEP2

C. A VXLAN tunnel originating on the super Spine Layer in DC1 to the Super Spine Layer in DC2
D. A VXLAN tunnel originating on the Spine Layer in DC1 to the Spine Layer in DC2.

Correct Answer: B

QUESTION 7

You are asked to configure JTI on the QFX Series devices in your data center fabric. You must use sensors with the
least amount of latency. Which type of sensor should you use in this scenario?

A. Python sensors

B. JTI native sensors

C. analog sensors

D. JTI OpenConfig sensors

Correct Answer: B

QUESTION 8

Referring to the exhibit, which two statements are correct? (Choose two.)

e i

M Exhibit

|

A. The local leaf is using the 192.168.100.102 IP address as the local anchor point of the VTEP tunnel.
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B. The remote leaf is using the 192.168.100.102 IP address as the local anchor point of the VTEP tunnel.
C. The remote leaf is using the 192.168.100.101 IP address as the local anchor point of the VTEP tunnel.
D. The local leaf is using the 192.168.100.101 IP address as the local anchor point of the VTEP tunnel.

Correct Answer: AC

QUESTION 9

Which device provides microsegmentation in a data center network?
A. vVSRX

B. EX4300

C. vMX

D. QFX5100

Correct Answer: A

QUESTION 10
You are asked to build a single export policy that can be applied to all devices to advertise only loopback IP addresses

in the 172.16.0.0/24 subnet into your EBGP IP fabric. In this scenario, which two solutions would accomplish this task?
(Choose two.)
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policy-options |
policy-statement EXPORT-LOOPBACK |
term LOO |

from |
protocol direct;
route-filter 172.16.0.0/24 prefix-length-range /f24-/30:

}

then actept;

}

B. policy-cptions |
glicy-statement EXPORT-LOOPBACE |
term LOD |

from |
protocol direct:
route=filter 172.16.0.0/24 prefix-length-range f32-/32;

}

then accept;

C: policy-options |
policy-statement EXPORT-LOOPBACK |
term LOO |
from |
protocol direct)
route=filver 172.1€.0.0/24 prefix-length-range /32-/32;

j
then accepts

}
D. policy-options |
policy-statement EXPORT-LOOPBACK |
term LOOD |
from |
protocol direct;

then accept;

policy-options |
policy-statement EXPORT-LOOPBACK ({
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A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B

QUESTION 11

Which statement is true about a Data center interconnect over an IP network?
A. Layer 2 data must traverse a point-to-point

B. Layer 2 data must traverse an MPLS LSP.

C. Layer 2 data must be encapsulated.

D. Layer 3 data must be encapsulated

Correct Answer: C

QUESTION 12

What happens when a packet is encapsulated by a VXLAN before being placed in the overlay?
A. The TTL is decremented by two and placed in the VXLAN header.

B. The QoS marketing are placed in the VXLAN header.

C. The VLAN-ID is placed in the VXLAN header.

D. A VNI that maps to the VLAN-ID placed in the VXLAN header.

Correct Answer: D

QUESTION 13

A customer wants to connect two data centers on different subnets using EVPN. What are two implications of using

different IP subnets at each site? (Choose two.)

A. Using different IP subnets at each site allows Layer 3 gateways to exchange only type-3 routes.
B. MAC addresses will need to be advertised between the data centers.

C. MAC addresses will not need to be advertised between the data centers.

D. Using different IP subnets at each site allows Layer 3 gateways to exchange only type-5 routes.
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Correct Answer: CD

QUESTION 14

You are deploying a 3-stage Clos IP fabric in your data center. In this scenario, which statement is correct?
A. Each server-facing interface on a leaf node is always three hops away from other server-facing interfaces.
B. Each spine node must be physically connected to all other spine nodes.

C. There is an eight-spine node limitation.

D. No direct physical connections exist between leaf nodes.

Correct Answer: A

QUESTION 15

You are asked to deploy 20 QFX Series devices using ZTP Each QFX5 100 requires FTP server. In this scenario, which
two component must you configure on the DHCP Server? (Choose two.)

A. The MAC address of the FTP server

B. The IP address of the FTP server

C. The MAC address of each QFX5100

D. The MAC address of each FTP QFX5100

Correct Answer: AB
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